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Discuss the pfovisions relating to assessment of income by the

Assessing Officer. 15
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(@) The Assessing Officer has reasons to believe that the

following incomes of the assessment year have escaped

assessment .
Amount of income
escaped assessment
Assessment year 2004-05 1,90,000
Assessment yeér 2005-06 95,006
Assessment year 2006-07 5.20,000.

The Assessing Officer’ has issued 3 notices on

15-11-2010. Are these notices valid ? 6
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For the assessment year 2010-1 1, the company submitted
tfae return of income on 28-9-2010 declaring income of‘
¥.5,62,500. Subsequenty, it is found that the depreciatior;
provided in ‘the accounts as per the Companies Act, 1956
was ¥ 3,67,500. IThis was claimed as deduction under.
section 32 of the Income-tax Act, 196]. Héwever, as per
Section 32, amount of depreciation is T 4,12,500. What

remedy is available to the company 7 4

Ramesh, in individual had filed a return of income of
Rs. 6,00,000 for the assessment year 2011-12. His income
is assessed at Rs. 9,00,000. Ramesh wishes to file an appeal

against the above order. Advise Ramesh about the

procedure of filing an appeal. ' 5
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R.is employed with X Ltd. and drawing asalary of
7 53,000 p.m. w.e.f. 1-4-2010. He has contributed ¥ 36.000
towards the recognised provident fund. He has submitted

the following details of other income to.the employer duly

verified by him :

Z
Gross receipts profession - 1,40;(;00-
Tax deducted at source @ 10‘:/:; 14000
Expenses incurred on earning the
professional income £,20,000
'Lo;s from house property let 73,000
TDS by the tenant on the house property

(rental income of ¥ 1,30,000 @ 10%) 13.000

Compute the tax ceductible by R in the aforesaid

case. 8

The power of the Settlement Commission to grant

immunity from penalty and prosecution is limitless.

Discuss. 7
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A firm made the following payments of advance tax during

the financial year 2010-11 :

?- .
1592010 6.00.000
15-12:2010 14.00.000
1532011 500000
25.00.000

The income returned by the firm is ¥ 80 lakhs under the.
head ‘bus‘ipess’ and ¥ 'l 0 lakhs by way of Iong-ter.m capital
gains on sale of 4 property effected on 1-3-2011. What
is the inlerest payable' by the assessee ws 23483 und
sc?tio‘n 234C for asseséj.men;')'ear 20l 1-12 7 Assume that
the return of income was filed on 30-9-2011 and tax \'vas:,
fully paid on self-assessment. Assume rate of -tax app]icab!e_
o a firm is 30% plus education cess @ 2% pluy SHEC .

@ 1%. - 3
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Under what circumstances is an assessee deemed to be
an assessee in default and what are the consequences

is & person is in default in payment .of taxes ? 7
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1592010 600,000
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1532011 5,00,000
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R Ltd.
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owns the f(.)llowing assets on 31-3-2011 :
Land situated in rural area : Book value % 16.00,000.

Unused land situated in urban area, purchased on
7-8-1989, for construction of factory. Book value I
30,00,000. Value as per Schedule HI to the Wealth-tax Act.

1957 : % 39,00,000.

Motor car : Written down value ¥ 4,00.000] Value as

per Schedule 111 to the Wealth-tax Act, 1957 :

_ ¥3,00,000.
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(")  Residential house : Written down value ¥ 6,00,000.
Value as per Schedule 111 to the Wealth-tak Act, 1957

2 6,60,500.

(v) Gold and Silver : Book value ¥ 10,00,000 : Value as per

Schedule 111 to the Wealth tax Act, 1957 - % 95,00,000.

(vi) ~ Shares in companies : Book value ¥ 33,00,000. Quoted

value : T 41,70,000.
(viiy  Cash in hand : T 91,000.
(viii) Bank balance : ¥ 8,76,000.

Assuming that the company has borrowed 2 10,00,000 for purchase
.of plant and machinery (out of which ¥ 6,00,000 is outstanding
0131-3-2011, find out the wealth-tax liability of the company for

the assessment year 2011-12. A5
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(@ R Ltd. has let out a premisés with effect from l-‘10-201(_)
on monthly rent of ¥ 2 lakh. The lease is valid for 1¢
years and the tenant has made a deposit equivalent to
3 months rgnt. The tenant has undertaken to pay the‘
municipal taxes of the premises amounting to ¥ 2 lakh.
What will be the value of the property under Schedule

1 of the Wealth tax Act for assessment to wealth tax ? 8

()] Discuss the- powers of the Authorised Officer while
conducting a search, 7

PT.O.



( 14 ) 9611
() R%ﬁﬁs 3 1-10-2010 ¥ 2 T % WifEE fRT

W TF A F R W R e ¥

1098 & fore 3y ¥ o frumEr A 91 A W

m%ﬂmmﬁm%1mﬂ%sﬁ-m

, Wmaﬂﬁhzwa'%,éﬁwm

o |ﬁqﬁaﬂafuﬁwaﬁwm%

sivl et % faofon @ fer Wt e
w@m ? N

(@) wewh w0 wHa st i w5 wReeE B
faa=m S |

Every person liable to pay service tax is under an obligation to
assess the tax due on the services provided by him and fumnish

a return. Discuss. 15
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Discuss thg advantages and limitations of VAT. 8
Discusé input tax credit with exqmples under VAT. 7
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